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PHILOSOPHY (General)
Paper Code : llI-A & B

(Ethics: Theory and Application)
(New Syllabus)

Full Marks : 100 Time : Four Hours

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one of these
alternatives is ‘CORRECT” answer. The candidate has to write the Correct
Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No. in the Answer
Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : III - A

Full Marks : 30 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

1. Who of the following is the proponent of hedonistic calculus?
(A) Mill
(B) Bentham
(C) Both
(D) None of them

S, oA (@I AT AR el Lol o 2
(A) ot
(B) (2™
(C) Texig
(D) (P2

2. Which is the actual meaning of Niskama Karma in Gita?
(A) not performing any act
(B) not performing duty
(C) act without attachment for consequence of action
(D) all of these

3. MeR Afdfe ‘MmN IR aFe oL (@0 ?
(A) @I Fie = F41
(B) F637 ¥ a1l Tl
(C) TR SN 1 A 3 0
(D) Tt Aaafez
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. Which of the following is the ends according to Gandhiji?
(A) Truth

(B) Non-Violence

(C) Both

(D) None of these

. SRR o W @A o 2
(A) 19y

(B) wifz<att

(C) Texig

(D) @I T

. Whose theory is called as ‘Asceticism’?
(A) Mil

(B) Bentham

(C) Rashdall

(D) Kant

. IR T FRORM N &b ?
(A) e

(B) =™

(C) TG

(D) ¥

. The number of proposition of morality is according to Kant —
(A) 3

(B) 4
© 5

D) 6
. IO (e T RIfox A4 261 —
(A)w
(B) 8
() ¢
(D) v
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. If a person is accused of having done something wrong then he gives excuse to
deny —

(A) Freedom of will

(B) Responsibility of action

(C) Both freedom of will and responsibility of action
(D) Neither (A) nor (B)

(e e oY

AW (N S (FIF SR FCS SfoYS 2, O (7 [WHERS (@0 F00 bR ?
(A) 2o=F FI&TS!

(B) FIted wifsrg

(©) (A) ¢ (B) TomR

(D) (A) a1 (B) (b2 7w

. The actions of animals are —

(A) Moral

(B) Non-moral

(C) Immoral

(D) None of these

. AR T 27 —

(A) e

(B) Wit

(C) Mfeaifes

(D) (FICAHE =7

. Who among the following is advocate of unrefined utilitarianism?
(A) Mil

(B) Bentham

(C) Both

(D) None of them

. RS @i v spice SAERITE gk —
(A) &

(B) (2™

(C) Tex2

(D) (FTZ

Turn Over

(35)



10.

S0.

I1.

SO,

. Which of the following is the dimension of hedonistic calculus?

(A) Intensity
(B) Proximity
(C) Purity

(D) All of these

. SR (FRIG FRAHR oAeT] el STewes 2

(A) Siget

(B) T30y

(OREINIET

(D) 7Rafez

Which of the following statements is correct about ethics?
(A) Ethics is natural science

(B) Ethics is a normative science

(C) Both

(D) None of these

e el Sy Sfefm T @t Al

SVl aS

(A) difsfm @at arpfes e

(B) SRt «3f e e
(C) Tex
(D) @I

Which of the following is moral judgement?
(A) This pen is good.

(B) Your answer is right.

(C) To tell a lie is right.

(D) None of these

ea IR e @G e a7 2
(A) 92 o0 ©fe |

(B) (o7 Tex 155 |

(C) T2l 2 =1l ol |

(D) @4 =
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12.

SR

13.

PIGH

14.

>8.

Which of the following is not a non-moral action?
(A) Random action

(B) Reflex action

(C) Instinctive action

(D) Voluntary action

e @I witafes e e e

INEENER

(B) 2fes e

(C) zfe=s

(D) &fvzs Tl

Which of the following is the object of moral judgement?
(A) Motive

(B) Intention

(C) Consequence
(D) All of these

el Wty @It s Roles e

(A) STy

(B) wifear

(C) zeTlRpeT

(D) FRafeT

Which of the following is true?

(A) Ethical hedonism means psychological hedonism
(B) Ethical hedonism and psychological hedonism are fundamentally different
(C) Both (A) and (B) are true

(D) Neither (A) nor (B) is true
e apefm o @I Ty

(A) TARSF AW @IS (@R ITBIGT 7AW

(B) (s 374w ¢ wifge 4w fom

(C) Tex2 ey

(D) (FICADE ey 77
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S¢.

16.

PN

17.

4.

Which one is true about altruism : It regards as moral standard.
(A) Self realization

(B) Doing good to society

(C) Egoistic pleasure

(D) Obedience to law

(I Y : 2PN SEPAIE (e [BIC Mwes a1
(A) e

(B) TCerg 3T A

(C) SsPId

(D) feacarsr afs igores

Which one of the following is not a theory of punishment?
(A) Reformative

(B) Retributive

(C) Determinism

(D) Preventive
5T (i wglD (i R m e

(A) FRCALSTS

(B) wfereiaress

(C) frrgeram

(D) et

Which of the following theory of punishment is divided into two?
(A) Reformative

(B) Retributive

(C) Preventive
(D) All of these

8 @ =8 TRFR o 2ot [fow?
(A) AN

(B) eiforianes

(C) dfotas

(D) Faafez
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b

19.
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20.

20.

Which of the following is the meaning of Euthanasia?

(A) Mercy killing

(B) Desired death

(C) Both

(D) None of these

e Il 2eFRIE oL
(A) Tl 291

(B) FIfers Tz

(C) Texig

(D) @I T

What are the types of Ecology?
A) 2

B 3

©) 4

D) 5

M-S T 2Pl ?

(A) 2

B)©

©) 8

(D) ¢

Who is the writer of Practical Ethics?
(A) Mil

(B) Bentham

(C) Kant

(D) Peter Singer
958 F Practical Ethics-&9 (51352
(A) ot

(B) g™

(C) 3%

(D) f7br P
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Q0.

22.

R

23.
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In which country active euthanasia is legally accepted?
(A) Netherlands

(B) America

(C) England

(D) India

05 (I (A0 DB Ty TOf1 SN TAOC 2lfey 2
(A) VIS

(B) ST

(C) TS

(D) oF®

Who of the following does regard punishment as ‘Negative Reward’?
(A) Mil

(B) Aristotle

(C) Kant

(D) Peter Singer

(A) f=

(B) wIIfE55s1

(C) =%

(D) foibrar foretra

Whose theory of morality is compared to Karmayoga of Gita?
(A) Mil

(B) Kant

(C) Bentham
(D) Peter Singer

I (A MG 05 Aol FCATAT Toiell Sl 22
(A) f

(B) 715

(C) 7™

(D) fofbra Fira
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8.

25.

RE.

26.

WY,

According to moral laws are categorical Imperative.

(A) Kant

(B) Ml

(C) Rashdall
(D) Mackenzie

(fess fFRmefers fexd wrepesl’ qesTied —
(A) %
(B) fe
(C) retet
(D) TC=e
Which one is the subject matter of Ethics?

(A) Highest good
(B) Relative good
(C) Both

(D) None of these

SfSRMIF SCAL; [REw (@ 2

(A) A

(B) SCoARRE Faplel

(C) Toxg

(D) @62 7

Who of the following is the evolutionary hedonist?
(A) Mill

(B) Bentham

(C) Kant

(D) Spencer
I3 (@i wfas Radaait 741 2
(A) e

(B) (2™

(C) 1%

(D) ¢Aels
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28.
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29.

.

Who of the following is/are intuitionist?
(A) Butler

(B) Martineau

(C) Both

(D) None of them
057 (& TR e

(A) e

(B) BT

(C) Tex

(D) (FTZ 7

Which is the stage of voluntary action?
(A) Metal

(B) Physical

(C) Extemnal

(D) All of these

e (oG Aoz frarm wae
(A) S

(B) iz

(©) 1y

(D) 7<afez

Who says, “Quantity of pleasures being equal, pushpin is as good as poetry”?

(A) mill
(B) Bentham
(C) Kant
(D) Rashdall

I IS, AT IO A W0, (I 2 S F0! AT 2 o 2

(A) f&

(B) 2™
(C) 3%
(D) Sy™elet
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30. Bentham has advocated external sanctions.
A) 2

B) 3
© 4

D) 5
©o. (@I AT -G BTa ST |
(A) R
(B) ©
(OR
(D) ¢
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2020
PHILOSOPHY (Honours)
Paper Code : Ill- B

(Ethics : Theory and Application)
(New Syllabus)

Full Marks : 70 Time : Two Hours Thirty Minutes
Section - I

Answer any three questions of the following : 15%3=45

1. Explain the ‘Niskama Karma’ in Gita. 15

2. Explain critically the retributive theory of punishment. 15

3. What is Environmental Ethics? Is it necessary for human existence? 5+10

4. What is Euthanasia? Make a distinction between Active and Passive Euthanasia?
5+10

5. Make a comparison between Bentham and Mill’s Utilitarianism. 15

6. What is meant by ‘postulates of moral judgement’? Explain the principal postulates.
5+10

Section - I1

7. Answer any five questions of the following : 5x5=25
(a) Write a note on deep ecology.
(b) Explain briefly the hedonistic calculus.
(c) What is Categorical Imperative?
(d) Is suicide acceptable?
(e) What is Ethical Hedonism?
(f) What are the types of theory of punishment?
() Is passive euthanasia acceptable?
(h) Do you support capital punishment? Justify briefly.
(1) Why is ethics regarded as normative science?

(j)) What is the utility of studying ethics?
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